FOENNIRHIFR FIRRE—E
F1xl5  PIORER 4F BERESES
F2RlE  FPIORERE 7F RSEE
SREsS | BEES v av# 7~ FRHE Fita ®T =
10039 101 —HERE 1 MERTFA 1L | 58268 (&) 09:00 | 10:00 | HE15B
10011 102 —MERE 1 MmERTR 1 | 58268 (&) 09:00 | 10:00 | £E14iE
10051 103 —HERE 1 MEETFA 1L | 58268 (&) 09:00 | 10:00 | HE15IB
10021 104 —MERE 1 MERTA 1 | 58268 (&) 09:00 | 10:00 | £E14iE
10052 105 —HERE 1 MERTFA 1L | 58268 (&) 09:00 | 10:00 | HE15IB
10056 106 —MERE 1 MERTA 1 | 58268 (&) 09:00 | 10:00 | £E14iE
10020 107 SE39EINERRIEN> TPL A (1) 5H268 (&) 10:05 | 10:55 ESE=
10023 108 SE39EANMERRBEN>TPL >R (1) 5H268 (£) 10:05 | 10:55 EIRG
10025 109 SE39EINERRIEN> TPL A (1) 5H268 (&) 10:05 | 10:55 ESE=
10042 110 SE3OEAMERREN>TPL >R (1) 5H268 (£) 10:05 | 10:55 EIRG
10031 111 SE39ENINERRIBEN> TPL A (1) 5H268 (&) 10:05 | 10:55 ESE=
10008 112 SE3OEAMERREN>TPL >R (2) 5H268 (£) 11:00 | 11:50 | 128
10046 113 SE39EINERRIBEN> TFL A (2) 5H268 (&) 11:00 | 11:50 | 2185
10048 114 SE3OEAMERREN>TPL >R (2) 5H268 (&) 11:00 | 11:50 | 128
10038 115 SE39EINERRIBEN> TFL A (2) 5H268 (&) 11:00 | 11:50 | 2185
10034 116 SE3OEAMERREN>TPL >R (2) 5H268 (&) 11:00 | 11:50 | 128
10055 117 —HERE 2 MERTFA 2 | 58268 (&) 13:05 | 14:05 ESE=
10032 118 —MERE 2 MR TR 2 | 58268 (&) 13:05 | 14:05 EIRG
10035 119 —HERE 2 MERTFA 2 | 58268 (&) 13:05 | 14:05 ESE=
10022 120 —MERE 2 MR TR 2 | 58268 (&) 13:05 | 14:05 ENE=
10015 121 —HERE 2 MERTFA 2 | 58268 (&) 13:05 | 14:05 ESE=
10054 122 —MERE 2 MR TR 2 | 58268 (&) 13:05 | 14:05 ENE=
10001 123 —HERE 3 RESEE 5H268 (&) 09:00 | 10:10 | 22518
10024 124 —H%ERE 3 BESFR 5H268 (#) 09:00 | 10:10 | £E22i5
10045 125 —HERE 3 RESEE 5H268 (&) 09:00 | 10:10 | 22518
10003 126 —H%ERE 3 BESFR 5H268 (&) 09:00 | 10:10 | £E22i5
10049 127 —R%ERE 3 RESEE 5H268 (&) 09:00 | 10:10 | 22518
10040 128 —H%ERE 3 BESFR 5H268 (&) 09:00 | 10:10 | £E22i5
10028 129 —HERE 3 RESEE 5H268 (&) 09:00 | 10:10 | 22518
10041 130 —h%ERE 4 SR - BARE 5H26H (&) 13:05 13:55 EpE=2
10026 131 —HEEE 4 AR mRNE | 5H268 (&) 13:05 | 13:55 E2RIG
10016 132 —HERE 4 AREE-BmE | 58268 (&) 13:05 | 13:55 E2RG
10014 133 MYERE 4 AR mRE | 5H268 (&) 13:05 | 13:55 E2RIS
10036 134 —h%ERE 4 FEERE - BARE 5H26H (&) 13:05 13:55 EpE=2
10017 201 56O IRBIERPRRIEMRMATNS (1) | #ERCRBORE | 5HA27H () 09:25 10:15 ERE=
10013 202 | SES6ERBIERRFIZEMMATS (1) | #ECRIBOKRE | 58278 (1) 09:25 | 10:15 EIRG
10044 203 56O IRBIERPRRIEMRMIATNS (1) | #ERCRBORE | 5HA27H () 09:25 10:15 ERE=
10030 204 | SES6ERBIERFFIZEMATS (1) | #HECRIBOKRZE | 58278 (1) 09:25 | 10:15 ENE=
10000 205 | SES6EBRAIERARIZMEMMTTS (1) | #ECRIBOKRE | 58278 (1) 09:25 | 10:15 ESE=
10012 206 | SES6LRRIERARIZEEMMARS (2) IREORZE 58278 (L) 10:15 | 11:05 ENE=
10029 207 | SES6EBRMIERARIZMEMMITS (2) IREDRE 5H278 (1) 10:15 | 11:05 ESE=
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EBRES | WNEES tysareé T-X ®RH Fasa ®T =
10007 208 SE 56 IRRIEARRIBIEMIA TS (2) BRE DRZE 5827H (%) 10:15 11:05 EE=
10006 209 SE56OIRPIERRRIRIEMEATE = (2) BRE DIRZE 58278 (%) 10:15 11:05 125
10053 210 SE 56 IRRIEEARRIBIEMIA T (2) BRE DRZE 5827H (%) 10:15 11:05 EAE=
10043 211 —f%ERE 5 R - RS 58278 (%) 09:25 10:25 2%
10002 212 —fi%iEE 5 HRE-IRE 5827H (%) 09:25 10:25 2515
10027 213 —f%ERE 5 R - RS 58278 (%) 09:25 10:25 2%
10037 214 —fi%iERE 5 R IRE 5827H (%) 09:25 10:25 2515
10047 215 —f%ERE 5 R - RS 58278 (%) 09:25 10:25 2%
10009 216 —fi%iEE 5 AR IRE 5827H (%) 09:25 10:25 2515
10019 | KGCs-1 KGCZ YR 58268 (&) 16:20 17:20 IR
10033 | KGCS-2 KGCZ VR 5H26H (&) 16:20 17:20 EAE=
10010 | KGCSs-3 KGCZ YR 58268 (&) 16:20 17:20 125




